
Aide-mémoire

e i z = cos(z)+ i sin(z), cos(z) = e i z +e−i z

2
, sin(z) = e i z −e−i z

2i

cosh(z) = ez +e−z

2
, sinh(z) = ez −e−z

2
, cosh2(z)− sinh2(z) = 1,

cos(i z) = cosh(z), sin(i z) = i sinh(z),
sin(z) = sin(x)cosh(y)+i cos(x)sinh(y), cos(z) = cos(x)cosh(y)−i sin(x)sinh(y)

z = e ln(z), ln(z) = ln(r )+i (θ0+2kπ), ln(ez) = z+2kπi

ln(z1 z2) = ln(z1)+ ln(z2)+2 k π i , ln
(z1

z2

)
= ln(z1)− ln(z2)+2 k π i ,
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f ′(z) = ux + i vx , f ′(z) = vy − i uy

f (n)(z0) = n!

2π i

‰
C

f (z)

(z − z0)n+1
d z

Série de Laurent :

f (z) =
∞∑

n=−∞
an(z − z0)n où an = 1

2π i

‰

|w−z0|=r

f (w)

(w − z0)n+1
d w, avec r1 ≤ r ≤ r2.

sin2(θ) = 1−cos(2θ)

2
, cos2(θ) = 1+cos(2θ)

2

lim
z→z0

(z − z0)n f (z)
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